[image: ]
image1.png
FINDING ZEROS Find all the zeros of thiy,. equation.
@. f(x) =x*+ 53+ 52— 50— 6

@ flx) = X — 4x? + 3x

25. f(x) = x* + 7x> — x? — 67x — 60
27. f(x) = x> — x> + 49x — 49

29. f(x) = x* + 627 + 14x% + 54x + 45
@ fx) = PP -s52-x-6

33. f(x) = 2t — 703 — 27x% + 63x + 81

EQUATIONS IN STANDARD FORM Use the quadratic formula to solve

17.x2 =5 — 14=0
20. 32+ 10x+22=0
@57 +3x—1=0
26.6p> —8p+3=0
29. — 41> -9t —3=0

68.
3 +27=0

nt = 2602 +72=0

7

74.
77.
80.
83.

X2 +3x—2=0
Sl 4+ 6x+58=0
=1y —4=0
=T+ 20+ 9=0
L9 = 12u+85=0

N
X =32

2 —x=2
L3y =243 =0

83 —1=0 L3+ 8x% = —16x

3t + 307 = 612 + 6x T+ xT —x

-2%°=16 L 3x7 =81t

19.x2 - 2x—4=0
22. -2+ 7x—19=0
25.22+x+1=0
28.8/2+4r+5=0
3. 102+ 8 — 1 =0

SOLVING EQUATIONS Find the real-number solutions of the equation.

2 — 62 =0

G0) 3t + 152 =72 =0
1B+ -8 —56=0
@.r3 +3x2—2x—6=0
79.8° =52+ 5x—25=0
82. 4x* + 2007 = —25

85.2° — 12¢° = —16x




